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Introduction
This contribution proposes text for TR 29. 801 to describe the compare of M2PA and M3UA. Changes are highlighted.

6
Compare of M2PA and M3UA

6.1
Advantage and disadvantage of M2PA

M2PA is a peer-to-peer protocol, using M2PA will keep MTP3 as layer 3 protocol, it just replaces TDM with IP as signaling transport protocol. 

· It will make signal link reliable. When using MTP3/M2PA/SCTP/IP, if the link is broken, it will use the MTP3 function of changeover to keep the link reliable.

· It will make operator keep many experience in maintaining of MTP3. For the operators, they are familiar with MTP3 and have many experience of it; using M2PA will inherit these experiences.

· When interworking with TDM signaling link, using MTP3/M2PA is easier than using M3UA.

It will cause a disadvantage of M2PA compared with M3UA.

-     MTP3 requires message body must less than 272 bytes, if the message is too long, it must be segmented.
6.2
Advantage and disadvantage of M3UA
Advantage

M3UA can support the transport of all the mobile network protocol such as BICC, ISUP, MAP, CAP etc. Most of vendors may support M3UA; the compatibility of M3UA is very good.

Disadvantage
· M3UA is designed for SG, So it is fit for access to SS7 network as IP SP. For large size network between STP, M3UA is not very suitable.
· Traditional SS7 network has the function of changeover and changeback, if the signaling link is broken, it may keep the link reliable, but if a SCTP association is broken, M3UA can not keep the message don’t lost, it always force changeover.
As 3GPP TS 29.202 defined, if B interface use MTP3 (or MTP3B) and M3UA only used at A and C interface, it also can fulfil the 3GPP requirement.

